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QUESTION 1

If there is a BGP next hop with equal preference in inet.0 and inet.3, which version of the route will BGP use? 

A. It will randomly choose between inet.0 and inet.3. 

B. the route in inet.3 

C. the route in inet.0 

D. the route with the lower metric 

Correct Answer: B 

 

QUESTION 2

You want to ensure that an LSP from router A to router D always goes through router C, which is two hops away. The
ERO is configured as _____. 

A. D loose 

B. C loose 

C. C strict 

D. B strict 

Correct Answer: B 

 

QUESTION 3

For which two functions is the Routing Engine responsible? (Choose two.) 

A. JUNOS software operation 

B. routing protocol control 

C. packet forwarding 

D. queuing functions 

Correct Answer: AB 

 

QUESTION 4

Given the following policy: 

policy-statement limit-cust { from { route-filter 10.0.0.0/8 orlonger reject; 
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route-filter 10.0.55.0/24 orlonger; 

route-filter 10.0.0.0/16 orlonger accept; 

route-filter 0.0.0.0/0 through 0.0.0.0/32 { metric 5; accept; } } then { metric 10; accept; } 

What happens to the route 10.0.56.0/24? 

A. The route is accepted. 

B. The metric is set to 10, and the route is accepted. 

C. The metric is set to 5, and the route is accepted. 

D. The route is rejected. 

Correct Answer: A 

 

 

QUESTION 5

Which two routing tables are eligible to resolve the BGP next hop? (Choose two.) 

A. inet.0 

B. inet.3 

C. inet.1 

D. inet.4 

E. inet.2 

Correct Answer: AB 
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